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1. Find lim—- [ V14 t2dt. Answer :
h—0h J; -
2. How many critical points does the function f(z) = |22 — 1| have? Answer : )
]
V b—2 |}
3. Find the number ¢ and b such that lirr(l) verto—c_ 1. Answer : :

T— T

4. Market has two commodities A and B. The demand equations that relate the quantities
demanded = and y to the unit prices p and g of the commodities A and B respectively are
. - 2y, : s
given by z = f(p,q) = —j—_——, y = g(p,q) = e+ Are A and B substitute, complemen-
pTq
tary or neither? Answer :
5. Find the slope of the tangent line to the graph of the function f(z) = (tanz)? + €° at

(0,1). Answer :

8. Find the volume of solid bounded above by by z = f(z,y) = e~*" and below by the

plane region R which is bounded by y =z, x = 1 and y = 0. Answer :

7. The Cobb-Douglas production function for a software manufacturer is given by f(z,y) =
1002/ 444 Where z represents the units of labor (at $150 per unit) and y represents the units
of capital (at $250 per unit). The total cost of labor and capital is limited to $50,000. Find
z and y that will yield the maximum production level for this manufacturer.

Answer :

8. Suppose f” is continuous on [0, 1], f(1) = 2, f'(1) = 2 and the average value of f on
1 )

[0,1] is 2. Evaluate / 2 f"(x) dz. Answer :
_ 0
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1 Find any extrema of the function f(z,y) = e™®¥/* subject to the constraint 22 + y2 < 1.

Valuam/ / zy/y3 + 1dydz

Jo Jz/3

ha

3. Determine whether the series \}- — converges absolutely or conditionally, or diverges.
£t pn

n=1




